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1. Which of the following pairs is

correctly matched?

Area of
Prize

Nobel Prize Winner
(2022)

[A] Svante Padbo — Physics
[B] Alain Aspect — Chemistry

[C] Morten Meldal — Economic
: Sciences

[D] Annie Ernaux — Literature

In which of the following cities was
the Global Buddhist Summit held
on 20th April, 2023?

[A] Delhi

[B] Kathmandu %@g
O

[C] Kuala Lumpur

[D] Jakarta

. Which of the following countries

has awarded the highest civilian
award ‘The Grand Order of the
Chain of Yellow Star’ to theq
President of India during her visit

in 2023? >
R []
- |A] Egypt ' O

[B] Malaysia
[C] Indonesia
[D] Surinam

Who is the author of the book The
Coalition Years?

. [A] Shashi.Tharoor .

[B] Pranab Mukﬁérjee ‘
[C] Ravi Mathur ‘
[D] M. M. Singh
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5. With reference to the North
Atlantic Treaty Organization
(NATO), which of the following
statements is/are correct?

[. It has 42 member nations.
II. Its Headquarters is located at
Brussels.
Select the correct answer from the
options given below :
[A] Only I
[B] Only II
[C] Both I and II
[D] Neither I nor II [£]3 5]
e
(&7
6. With reference to G20 (Group of 20),
which of the following statements

is/are correct?

I. India took over the G20
presidency from Australia on
1st December, 2022.

II. The first G20 Summit was held
in Washington in 2008. -

Select the correct answer usirg
the options given below : “

[A] Only I E]
[B] Only II O
[C] Both I and II

[D] Neither I nor II

7. Which of the following Articles of
the Constitution of India talks
about the Uniform Civil Code (UCC)?

[A] Article 43
[B] Article 44
[C] Article 45
[D] Article 46

8. In 2023, which US State recently
declared holiday in public schools
on the festival of Diwali?

[A] Los Angeles
[B] Boston
[C] Jersey
[D] New York '
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9. Which of the following pairs is
correctly matched?

Name of Padma
Shri Recipients
[A] Shri Anand Kumar—
Science and Engineering
[B] Shri Moolchand Lodha —
Literature and Education
[C] Shri Janum Singh Soy —
Public Affairs
[D] Shri P, Kalyansundaram —
Social Work

Area of
Award

10. In which of the following States has

the wgrld’s largest railway platform
been Inaugurated?

[A] Karnataka ,
[B] Madhya Pradesh
[C] Rajasthan

[D] Delhi

11. Who was the Chief Guest for the
Republic Day in 20237

[A] President of Afghanistan
[B] President of Egypt

[C] President of UAE

[D] President of Indonesia

12. The Indian Government has
launched a rescue operation in
Sudan to evacuate its stranded
citizens. This operation is known as

[A] Operation Devi Shakti
[B] Operation Ganga
[C] Operation Addis Ababa
[D] Operation Kaveri

13. Which architect has designed the
new building of the Indian
Parliament?

[A] Ravi Modi

[B] Bimal Roy

[C] Bimal Patel

[D] D. Radhakrishnan -
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14.

15.

16.

Which of the following statements
is/are true about Coalition for
Disaster Resilient Infrastructure
(CDRI)?

I. India is a member of CDRI.

1I. It is a UN agency.

ph

I1I. Its headquarters is located:in
Paris. A

b
IV. It was launched during G0
Summit, 2023. O

Select the correct answer from the
options given below :

[A] Only I
[B] Only I and II
[C] Only I, IIl and IV

(D] 1, 1L, Il and IV
&

Agricultural drought is define

[A] uneven distribution of rainfall
over time and place

[B] low soil moisture

[C] inadequate rainfall of 30 percent
or more in cropped areas

[D] the lack of water supply in
water storage reservoir which

can be compensated by normal

rainfall

Indian National Centre for Ocean
Information Services is located in
which of the following cities?

[A]' Mumbai
[B] Delhi

[-C] Kolkata
[D] Hyderabad

14, f9eifeRd 3 @ arver wRe ghae e

% 0T & (CDRI) & o) & HH-H1
FYT TG B/87

I. YA CDRI 1 95 2|

II. I8 T UN ToiE 2|

11. 391 JEITed Ui § saferd 2

IV. 39! JE3TT G20 FMHe, 2023 ¥

T

T few v foemedt § @ | IW B TH
Hifag : | |

NEESS

[B] et I 3R 11

[C] e 1, 111 3T IV

[D] 1, II, LI @& IV

15. i g@n % gfenfya fea s @

16.

[A] GEETElY TS T % g § a9l
&1 fauy Terawor

[B] F=1 gar g

[C] 30 fcsra a1 35& rfres aaaty aul
5T BHC &7 § B

[D] Vi1 998 WeR H Jelgfd ¥ 3Tc(eeh
it g1 58w awt | qu e
ST Geh

fafeRaa @ o forg STet § R T
TEETPR T &1 5 frd 87

[A] qFE
' [B] fewedt
(C] e
D] &

[P.T.O.



17. Which of the following statements
are correct regarding Yaya Tso
Lake?

. It is located in Ladakh.

1I. It is Ladakh’s first heritage site
under the Biological Diversity
Act.

III. It is also known as bird’s
paradise.

IV. It is fed by Sutlej river.

Select the correct answer from the
options given below :

[A] T and II only

[B] I, I and IV only
[C] I, II and III only
[D] L, II, Il and IV

18. The Lakdawala Committee (1993)
is related to

[A] income inequality
[B] poverty estimation
[C] inter-State relation

[D] biodiversity conservation

19. The Universal Declaration of

. Human Rights, adopted by UN

General Assembly, does not include
which of the following?

[A] Dignity, Liberty and Equality
[B] Right to Life

[C] Freedom of Adequate Standard
of Living
[D] Right to Universal Basic Income

- 20. Which of the following is not
considered a subsidy box for
agriculture in WTO?

[A] Green box subsidy
[B] Amber box subsidy
[C] Red box subsidy

[D] White box subsidy
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44 e ¢ aJ00

17. o @ e & ged § Fe A @ wi-3

TR

1. 98 der@ § R Bl

11, Tg 3a Rt arftfrm & 7ad de@

=1 wor o UM Rl

11, 38 Uit = @t oft a1 S 2l
IV, I8 gdert 76t @ g fafm 21
A feu U foeredi B @ W& ST A1 A
i -

V[A] HEA 1T I

[B] e 1, 1 TF 3R IV

[C] e I, 11 T III

D] 1, II, Il W& IV

18. SHeETE At (1993) Tefid
[A] 3 fawmar @
yB] Tt 3o &
[C] i~y Ty &
[D] Safafaerar sweo o

19, WY TY WEEHT I IR TS A
HRRI <l wreifires wwon § frefeRad
4 - it T 27
~[A] T, T T q9EE
[B] Sfta &1 arftepr
[C] S e ATH T Tl
V[D] HEHifieR UG 37 1 AR
20. WTO 3 37, Fifend 5 & HH-91 FIeH
e % T 1 TR Tl TeRaT STt &7
[A] H =le@ STIEH
[B] TSR A1 I
[C] X8 T R
* [D] <ETse SN AIEH



21. Which of the following statements
is/are true for alluvial soil?

I. Its sand content decreases
from west to east.

II. They are in the form of
Bhangar and Khadar.

III. This soil covers about 40 percent
of the total area of the country.

IV. This soil is rich in potash and
poor in phosphorus.

Select the correct answer from the
options given below :

[A] I only

[B] I and II only

[C] 1, II and III only
[D] L I, 1Il and IV

22. PM KUSUM Scheme is related to
[A] agricultural solar pump system
[B] electrical vehicle subsidy
[C] semi-conductor sector

[D] fertilizer sector

23. Labour force participation rate is
defined as the

[A] ratio of unemployed population
to work force

[B] ratio of employed and willing to
work to working age population

[C] ratio  of employed to
unemployed population

[D] ratio of work force to
age po
disguise

working
pulation €xcluding
d unemployment

24. World Social Sec
released by which

[A] World Banj

urity Report is
of the following?

[B] UN Women Commission
[C] ILO

[D] UN Human Rights Commissijon
3-B.
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05. Which of the following statements
are correct regarding Kharal

camels?

1. It is a rare camel breed found
in Ladakh.

II. Their name is derived from the
local word ‘Khara’ meaning
saline.

[1I. They swim long distance in sea
to reach their grazing areas.

IV. They were anciently used in
the ‘Silk Route’ areas.
¢ Select the correct answer from the
» options given below :
» [A] I and III only
& [B] II and III only
[C] I and IV only

[D] I, II, 1II and IV

4

26. Which of the following statements
is/are correct regarding Gini
coefficient?

I. It measures the level of income
inequality in the society.
... II. Higher the Gini coefficient,
% lower the inequality.
ESE [II. It can be derived using the
Lorenz curve.

Select the correct answer from the
options given below :

[A] T only
[B] I and III only
[C] I and II only

[D] II and III only

27. Where is Dibru Saikhowa
Biosphere Reserve located?

 [A] Arunachal Pradesh
[B] Assam .~
[C] Manipur
[D] Sikkim |
28. Earth Overshoot Day is related to
[A] environmental degradation
[B] overheating of troposphere
[C] melting of glacier due to
intense sun rays
[D] geomagnetism
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At which of the following Indus
Valley sites was a terracotta replica
relating to exploration of a plough
discovered?

[A] Dholavira
[B] Kalibangan
[C] Rakhigarhi

[D] Banawali

In which district of Jharkhand is

the neolithic archaeological site
Barudih located?

[A] Hazaribagh

[B] Simdega

"[C] Jamtara

[D] None of the above

. Which one of the following

administrative structures in
ascending order is correct?

[A] Dronamukha, Sthaniya,
Samgrahana, Karvatika

[B] Sthaniya, Karvatika,
Dronamukha, Samgarhana

[C] Sthaniya, Dronamukha,
Karvatika, Samgarhana

[D] Sthaniya, Dronamukha,
Samgarhana, Karvatika

Prabhavati Gupta was the ruler of
[A] Gupta Dynasty

[B] Sunga quasty

[C] Vakataka Dynasty

[D] Maukhari Dynasty

29. frafafad § @ feg fory aidt wa &,
Tl I Wil Feiftrd Sehier <t wfeepia fireft ?
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33.

The Sangam text Tolkappiyam 18 @

work on

[A]‘ astronomy
[B] grammar
[C] music

[D] medicine

34. Who was responsible for the smooth

functioning of the Mughal
Mansabdari system?

[A] Vakil 2
[B] Wazir : :
[C] Mir Bakshi )
O
[D] Sadr O

35. During the Mughal period, the

36.

- coins minted during the previous
reign were called

[A] Khajana
[B] Chalni
[C] Mohur
| ¥
[D] Bikha 0

The capital of Vijaynagar Empire
was situated on the bank of which
river?

[A] Tungabhadra

[B] Narmada

[C] Godavari

[D] Bhima

3-B
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Which of the following is not
correctly matched?

Building Builder

[A] Lal Mahal — Balban

[B] Hindola Mahal— Hoshang
Shah

[C] Jahaz Mahal — Ghiyasuddin
Khilji

-[D] Lal Darwaja — Bibi- Raje
Mosque

Who among the following is not a

painter of Jahangir’s period? 2
v
[A] Mansur q
FY
B] Manohar 4
[B] G
O

[C] Khwaja Abdus Samad
[D] Abul Hasan

Which Congress Session passed
the resolution of Fundamental

Rights in 19317

[A] Allahabad

[B] Karachi

. Of 3
[C] Mumbai - EJI%%]
[D] Gaya

Who among the following said “The
Ryotwari is a system which has
always prevailed in India”?

[A] John Shore

[B] Alexander Duff
[C] Captain Reed
[D] Thomas Munro

11
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41. With which of the following

42,

43.

44,
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newspapers was Gandhiji not
associated?

[A] Young India
[B] Indian Mirror
[C] Harijan

[D] Indian Opinion

The Treaty of Amirtsar was

concluded between Maharaja Ranjit
Singh and

[A] Lord Cornwallis
[B] Lord Dalhousie
[C] Lord Hastings
[D] Lord Minto

Which of the following books has
not been written by Dr. Ambedkar?
[A] Thoughts on Pakistan
[B] Annihilation of Caste

[C] The Problem of Rupee : Its Origin
and Its Solution

[D] Servants of India

Consider the following statements :

I. The latitudinal and longitudinal
extent of mainland India is
around 30°,

II. From Gujarat to Arunachal
Pradesh, there is a time lag of

two and half hours.

The 82°30’E is the Standard
Meridian of India.

I1I.

IV. Time along the Standard
Meridian is taken as the

standard time for India.

Select the correct answer from the -

options given below :

[A] I-True, II-False, IlI-False, IV-True
[B] I-True, lI-False, III-True, IV-True
[C] I-True, II-True, II-True, IV-False
[D] I-False, II-True, IIl-False, IV-True

12
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[A] Thoughts on Pakistan

[B] Annihilation of Caste

*[C] The Problem of Rupee : Its Origin
and Its Solution '

[D] Servants of India
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2|

IV. WHe IR 1@ & T 1 Wig %
e 7% Twg T S 2

A1 fou e foemedi f & w@ s =5 5w

Hifeu -

[A] 1-9c3, [-378e, 11-3/6d, V-9

[B] 18, 11-378, -8, V-8

[C] -8, 1I-9W, 1II-9e, [V-37dcd

[D] I-319d, 11-99, -39, V-8
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 qII. Maximum East-West expansion

46.

and Myanmar? q
[A] Nagaland :
_ [B] Tripura E
[C] Mizoram
[D] Manipur
h, Western

AT,

“* [C] Nilgiri-Sahyadri-Cardamom

A [D] Sahyad.ri—Nilgiri—Card amom

g

“Which of the following statements

' Ghats are locally known as

are true?

I. The Tropic of Cancer divides
India into two halves.

II. The Tropic of Cancer divides
Indian International boundary
into two halves.

of India lies along the Tropic of
Cancer.

IV. Line joining the easternmost
and westernmost points of
India lies to the north of the

Tropic of Cancer. .

Select the correct answer from the
options given below :

(A] 1and II
(B] I and IV

[C] 1T and III [E
[D] I and IV EE

Which of the following Indian States
shares its boundary with Bangladesh:

From north to sout

[A] Sahyadri—Nilgiri—Anaimalai—
Cardamom Hills

[B] Sahyadri-Anaimalai-Nilgiri-
Cardamom Hills

Hills-Anaimalai

Hills-Anaimalai
' “ 13

45. f= 4 O HH-9 HY T &7

1. e 1@ WA I 3 fewi | aiear 21

[ e T ST h JT=Iss = Em T@nai
1 < feedi o wiean B

{11, 9T 1 qE-feem § Aferendn fawdm
=% 1@ % gY-91Y gl

v, s ¥ ged gl 3R wew ufve
ﬁgaﬁﬁaﬁgﬁm?rﬁi‘@aﬁ%%@%

o i R R
5 few U fepedt § 9 HEl ST H A

HIfIT :
[A] 13RI

«[B] I 3R IV
(C] 11 3R III
(D] 13RIV

a6, Frfifiaa § @ FH-A1 T, FECH

37 TR 3 @ T HE Rl 8 7

47. I et wfdt Tl 1 T Al

ST ST 2
[A] FeaTf AT HIs
feed

[B] TR —sraTes— e - HIeaH
feed

(0] St mE-Ee T
SEWATS

[D] wEA-Hefr-Hrem feed-
ITAATS

[ P.T.O.



48.

49.

50.

3-B

f the following TiVers does

Which 0 y
o Arabian sea

not drain int
(A] Krishna

[B] Sabarmati

[C] Tapi
[D] Narmada

common

Mango showers are
f India?

phenomena in which States O

[A] Uttar pradesh and Madhya
Pradesh

[B] Madhya' Pradesh and Karnataka

[C] Uttar pradesh and Tamil Nadu

[D] Kerala and Karnataka

Which of the following statements
are true?

I. Bajra is sown in hot and dry
climatic conditions of western
and central parts of India.

II. It is a hardy crop which can
resist frequent dry spells.

Being a rainfed crop, the yield

I11.
of this crop is low in Rajasthan.

IV. Rajasthan leads in its

production.

Choose the correct answer from
the options given below :

[A] Tand II
[3] Il and III
[C] 1II and IV

(D] 1 and IV

Okd0)
EEm

“rv ¢ adO

| 49. mﬁ,m%ﬁﬂnﬁﬁwm%?
J[A] e T T A T

(B] WA ST T FACH

(C] I 93 T AT

(D] e T FAICH

50. ﬁm%%ﬂﬁﬁﬁq—ﬁwmﬁ?

I.-W%Q‘Fﬁlﬂaﬁ'{ﬁwwﬁ%ﬂﬁ

ﬁwm@wﬁﬁmﬂﬁm
ElcI

I1. ﬁwmw%,aﬁw—aﬂ%
gp 2R & faue W B

111 S FE B9 3 SR, T |
Th) IeaTeshdl HA Bl

IV. Wﬂ?ﬁ%mﬁﬁwﬁ%l-

frfirfad fwed # & W I I -

(A] 13RI

(B] 11 3R III

[C] 111 3T IV

[D]IaﬁTIV.



51.

52.

53,

The dryland farming in India is
largely confined to the regions
having annual rainfall of

[A] less than 25 cm

[B] less than 50 cm

[C] less than 75cm

[D] less than 100 cm

As per 2011 Census, inter-state

female migration by place of last -

residence in India followed the
sequence of

[A] Rural to Urban-Urban to Rural-
Urban to Urban—-Rural to Rural

[B] Urban to Rural-Urban to Urban-
Rural to Urban-Rural to Rural

[C] Rural to Rural-Rural to Urban-
Urban to Rural-Urban to Urban

[D] Urban to Urban-Rural to Urban-
Rural to Rural-Urban to Rural

On the basis of population size,
which of the following is the
increasing order of urban

agglomerations?

[A] Chennai-Bengaluru-
Ahmedabad-Hyderabad

[B] Bengaluru-Hyderabad-.
Ahmedabad-Chennai

[C] Ahmedabad-Hyderabad-
Bengaluru-Chennai

(D] Hyderabad—Chennai—'Beng'éluru—
' Ahmedabad

15

S51.

52.

53.

“4p» - ¢ .‘.DD

yRd B 9% Y 1 @dl 39 w9 a
Hifta 8, &l anfte a9l

[A] 25 9.9 FA A
[B] 50 ¥.H. & 4 &

(c] 75 8.4 9 %9 &

~[D] 100 &H. & FA B

2011 FHTUMT e IFER, YRd H Afgensi
T STUT YaTH, ATE T T
¥ oEr = H 2

[A] Tife § EL-ITET § TiE-WE H wAE-
T g T

[B] Y& & - & TEIE H wa-
ICE-RIIC|

[C] Tifa ¥ TiaTd § &I | Te-
TR H IR

[D] V& & wERAt & v @ e
TR I e

SFEET ATHR & YR | = § 3
THIT-T1 Il Feperd 1 UL 69 B 7

(A] S-S —aTEHETETE-2E T,

«[B] STIE-2etE—3TEHE e

[C] JEAGTTG-ReTTsTe-TeF-—=rs |
[D] BTG-S STTe[&—3TgreaTe

[P.T.O.




54.

55.

56.

57..

The
Commisst
was inspire
following cou

igsion in In
ntries?

[A] Ireland

ted Kingdom (U.K.)

[B] Uni
States of America (U.S.A)

[C] United
[D] .None of the above

Under which Article of the Indian
Constitution, can the Rajya Sabha
authorize the Parliament to legislate
on a State subject by 2/3rd majority?

[A] Article 249
[B] Article 243
[C] Article 259
[D] Article 250

Which Article of the Indian
Constitution says that Directive
Principles of State Policy are not
enforceable by any court?

[A] Article 39
[B] Article 38
[C] Article 36
[D] Article 37

Under which Amendment Act was
the reservation in promotion for the
Scheduled Castes and Scheduled
Tribes ensured by inserting Clause
‘4A’ in Article 16?

[A] 75th Amendment Act, 1994

- [B] 76th Amendment Act, 1994

_3-3

[C] 77th Amendment Act, 1995
[D] 108th Amendment Act, l2008

16

q@qﬁﬁﬂﬁﬁw A '
(A] 31]‘?1'(%”3
(B) Ees P (U.K) o
J[c] FgF T I (U5
s, e 3 fve =S ST
m,ﬁ'ﬂﬁﬁw:‘}a@ﬁam
T THAl 87
[A] 32[3{'%@?{249
[B] TG 243
o
[C] 3G 259 =
[D] =G 250
56. T HHT % FFE e § 78 Jeciad
2 5 T % Fifa Féwes a1 e ot
TTE g0 AN A& feRAT ST HeRdl 87
JA] FTT 39 +
[B] ¥Fg=ag 38 M
[C] 31331 36 b
[D] 31g=a% 37 B
57. ferm weiaa arfufrem & siaia, sgese
167 4A SigeRt 3l sifd 3 srEf
Sl % fore aqmfa § e giafwed
fera T ?

[A] 7591 wuneR sifufrm, 1994

[B] 76df wane arfufem, 1994
*[C] 779t wMe arfafm, 1995

[D] 108di mem srfufrm, 2008



58

59.

60-

3

which of the following statements
are tru.e about Telecom Regulatory
Authority of India (TRAI)?

1. It was first established in 1997.
[I. It is a statutory body.

[1I. It was established to regulate
telecom services, including
fixation /revising tariffs.

Its headquarters is located in
Mumbai.

IV.

S.elect the correct answer :
[A] Only I, Il and IV

[B] Only I, IT and III

[C] Only II and III

[D] All of the above

%%EH
B

Which of the following Committees
were appointed to inquire into the
working of Panchayati Raj

Institution in India?
. L. M. Singhvi Committee

II. G. V. K. Rao Committee

OO » a ¢ Bp

[lI. Ashok Mehta Committee
V. Balwant Rai Mehta Commmittee
Select the correct answer :

[A] Only I, II and III

[B] Only III and IV

[C] Only II, III and IV

[D] All of the above

Which date is observed as the Good
Governance Day in India?

[A] 14th November
[B] 25th December
[C] 2nd October

D] 1st May
17

5g. frmfIian & SH-H M, WRd g
e ISR (TRAI) % o1 o wist 27
[ g Ga9UE 1997 ¥ wfid gam o)
[1. T8 U QT e 2|
(11, gEeh! T gt i /gene wfea
R s i T w6 %
forw <1 8 I
v, e gEIer 4o § ferd 2
it IR I I DI :
s [A] e 1, 11 3R IV
(B] & I, 1] 3R 11
(C] e 11 3 I

(D] 3 @l

F& T B TIA HINT :
[A] ae 1, 11 3R 111
[B] et I 31K IV
[C] & II, 1T 3 IV

«[D] 3w wfl

60. e # fopm fofdy =) g fme < &9
¥ W ST B 7
[A] 14 TF=R
[B] 25 fewmR
[C] 2 IR
¢ [D] 178

[ POTQOI



61. Which among the following is not
true about the Comptroller and
Auditor General of India?

I. The administrative expenses of
his office are subject to vote of
Parliament.

II. He is not eligible for further

office under the Government of
India or of any State after he
quits office.

III. The CAG can be removed from

office on the ground of proven
incapacity or misbehaviour
after an address by both the
houses of Parliament.

Select the correct answer :
[A] Only I

[B] Only II and III

[C] Only II

[D] Only I and III

62. Reasonable restrictions on

‘Exercise of Freedom of Speech and
Expression’ under Article 19(2) are
justified in the interest of which of
the following conditions?

I. Security of State
II. Defamation
III. Sedition
IV. Public order
Select the correct answer :
[A] Only I and II
[B] Only II and III
[C] Only I, Il and IV
[D] All of the above
3-B'

18

61. Tt # & FH-F/A B
e e IR A TR/

| TR FATE S TS T Ty
T & A &l

I 394 U2 & Bled & d1¢ 98 WE
TEHR T1 T & AL I Dl T
T % A T R
I, 992 & Sl gedi | HA&war A
e Hifed B % IFUN T A
s @ AEeE-udiee & 36
Ue ¥ g1 S Hehal =l
q@mmwﬁﬁq:
_g_EI[A]aﬁFII
T _
[B] hee 11 3 III
[C] aa 11

+[D] %ad 1 3N 111

62. IITWT 19(2) % IFawd, ‘O N
HAweafad i wamar F W W aHE
iagy, Frafafad § 4 fag oifRafy 3
3foa FE 1w 7

«}V{ACIG

L UST & geam

1. HTaTh-

1. TS5

IV. S sgae
Hel IR B T3 hifw
[A] ¥ 13t

[B] %ad 11 3R 111
'[C] *a= I, 11 3t 1v

(D] 37
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63-

64.

65,

68,

which Committee’s
the way for the r;ggx;thgaved
(Extension to Scheduled Areas)y:ts
(PESA) 1996 for ensuring tribal se??
rule for people living in Schedul .
Areas of India? Lied

[A] Ashok Mehta Committee
[B] G. V. K. Rao Committee
[C] Bhuria Committee

[D] Balwant Rai Mehta Committee

Which area was given the
maximum emphasis in the Second

Five-Year Plan?

[A] Agricultural sector
[B] Transport sector
[C] Industrial sector |

[D] Poverty alleviation

Which Index is considered as the
basis for estimation of poverty in

urban areas?

[A] Consumer Price Index of
Agricultural Labours

[B] Wholesale Price Index

[C] Stock Index

[D] Consumer Price Index of
Industrial Workers (CPI-IW)

India is the largest producer as
Well as the largest consumer and
importer of which of the following

Crops?
[A] Wheat
B] Cotton
€] Pulses

ID] Sugarcane

h

19

HU>» v e adg

g T
e

e

63. frm afify % feird 3 e % ot &l
3 T AT e 3 foru amfear FE -
gﬁfﬁﬁaﬂ:{%ﬁaﬁﬁnq‘aﬁﬁ(ﬁg@ﬁ
Bt g5 foreamr) et (PESA) 1996,
¥ foru et were TRAT?

(A] 3SR Haal A
(B] o oo 2o T HAT
(C] e |t

.[D] e T HEal HHid

. o el i 8, o 6 3 e
ot Tt aa feam T AT?
(A] PU &
(B] dfEd &
. [C] Frefie &
(D] TIs 3
65. mﬁéﬁﬁﬁ@%mwmwm
gjrmaf‘rrrmmm%?
J[A] vgﬁsxﬁﬁ”wmﬁm{aw
[B] YTeh e HIF
[C] IRR gIhih ‘
(D] 3eifiter 2iftrehi bt ST T2l Foehish

[E]

66. Wid, i # @ fopg waw w1 TEH 98
Icq1Seh, T & U1y TeY ST IUHIRHT A

TS B 7
¢ [A] T8

[B] HUTE
[C] <elgd

[D] =T
[P.T.O.




67.

68.

69.

70.

3-B -

Which of the following is not a cash

crop?

[A] Jute

[B] Millet

[C] Sugarcan€

[D] Peanut

Which indices are the basis for
determining sustainable
development?

[A] Ecology

[B] Social and cultural

[C] Economic

[D] All of the above

In which year was Sustainable
Development Conference held in
Johannesburg?

(A] 1997
[B] 2002
[C] 2003

[D] 2004

What is sustainable development?
[A] Economic development
[B] Environmental development

[C] Social development

[D] All of the above

E
EE

O b~ 4 b

20

67. ﬁﬂﬁ@ﬁqﬂm,qu@%?

[A]

- [B] TqR
(] T
{D] T

68. mﬁmﬁ%ﬁﬂﬁw%@,m@ﬂﬁé
TR ST ST 8 7

69. Srgrae § wad T ger o6
TR g3 17

JA] 1997
[B] 2002
[C] 2003

[D] 2004

70. Taq feaewm #0187
. [A] afien fersprer
(B] Tt faem
[C] TR T
[D] 39 &



vV

when did the term ¢
71, i 1 s SuStainabI
evelopment’ co ; : e
D P me into existence?

() 1980 [A] 1980
1087
Bl [B] 1987
[C] 1992
_[C] 1992
[D] 1998 '
[D] 1998
Wwhen was the proc f . _
f reforms started in ?2312? seonomie 72. R 3 iR guR i afse B % i
0 e
(A] 1990 ]
€ .[A] 1990
(B] 1991 ‘;
c] 1993 : (B] 1991
D] 1994 [C] 1993
[
| &y D) 1994
13. Match List—I with List—II and
select the correct answer using the T Afd Bt 3
code given below : 73. qgﬁ—[ﬁgﬁ?—-ll‘ﬁ i 3ﬂ‘{=ﬁ%
foq gu e T | W I P T *
List—I List—II
. | ge—1 H—II
k) Price discrimination (i) Ragnar Nurkse | Nierc R
b Land reform (i) Bretton Woods (@) 7 TP 0
) Vicious circle of (iii) Land monopoly (b) H GUR (ij) ST I8
ey | ) TR R (i) TR
41B.R.D. (iv) Land
consolidation (d) 3o o 3o o (iv) sfy Fepeal
Code : Fe :
@ ) () (@ @ (b (o (d)
W @) Gy @ () (A] (i) ) @ ()
B i) ) ) B] @) ) (v (i)
[C] i) @) () (iv) [C] @) (@) () (v
R A | f(Dl )y ) ()
2 [P.T.O.
k ) :

71. waq e vieq e e B !
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74 do we call the distance 4. @M % TSl &
. What i 7 qa 2l ShHATTd

FEd B ?
. - % .
two consecutive @ Tﬁ eIl
between ‘ o

compressions of a sound wav

[A] 5@ TR
[A] Wave number (B] smafy
[B] Frequency (] ?‘l'("léaj
1C] Wavelength .
: [D] I
[D] Amplitude
¥ ?
75. Which of the following is a cause 75. T 9 @ yfawf @ oo« B
Seslos [A] T % st
[A] Absorption of sound B efy o
[B] Transmission of sound 2
. v ‘[C] @ =1 quEde
[C] Reflection of sound 4
[D] Refraction of sound : [D] e i e
, O
76. Light year is g unit of , U 76. YHV 99 3hTS H
[A] distance | [A] @W
[B] time [B] O &
[C] eénergy El:é-% [C] ?nTrﬁ?HT
[D] intensity of light E%@ [D] € < -

77. Which of the followin

g cannot trave]
in vacuum?

77. ﬁmﬁ@rﬁq,ﬁaﬁaﬁmqﬁ

T Hehe 21
[A] Light [A] Sehrr :
[B] Heat *[B] Sy
[C] Sound [C] @fy
[D] Electromagnetic waves [D] ﬁm% T
" fﬁ&fr’fiffin"fEipefﬁé’fét;?;’viia‘l‘ﬁ T8 T (F) it v e =
named as N%ﬁmmm% '
[A] transmission

[B] modulation

[B] LIS EhEt
[C] demodulatipn (€] femtess |
[D] reception

22




ngora Wool is ext

i ra

shich of the following ;:fr:alfr;’m
‘ 87

m Sheep
(Bl Goat
:[C] Rabbit

|} Fox

iwh of the following is not t

' about RAM? i
3

: l RAM is & temporary storage area

A
18l RAM is like a hard disc storage

LICl RAM is volatile memory

Pl In
~ gone wWh
turned off

). Using websites 10 pour

j‘wvnnocs is called
E] \] Web plea

{B] Web hate
IC) Cyber ranting

t Cyber venting

formation stored in RAM is
en the computer is

out one’s

e,



Angora wool ig
79, . ext
] which of the followingzit-ed from
Imals?

[A] Sheep

[B] Goat

[C] Rabbit

[D] Fox

[A] RAM is a temporary storage area
[B] RAM is like a hard disc storage
,[C] RAM is volatile memory

[D] Information stored in RAM is

gone when the computer is
turned off

i1, Using websites to pour out one’s
grievances is called

Al W 1
[A] Web .p ea 2
[B] Web hate :
[C] Cyber ranting b
[
[D] Cyber venting O
EJI

; e

: Which part of Central Proc
Unit (CPU) performs calculations
and makes decisions?

4] Alternate Local Unit
18] American Logic Unit
€] Alternating Logic Unit

E D) Arithmetic Logic:Unit

h

23

79. T H g Sfier § ST S STH <l S
87
e [A] W
[B] =il

[C] @&
[D] wmgt

80. RAM e fra Y HH-a1 H@TR 8 7
[A] RAM T 3reefl {ogRo & 8

[B] RAM U& hard disc storage El
@ 8

(C] RAM & aroqefict HHI @
[D] RAM # wveTia He, FFE
1% BH W 3 T &

g1. Topet 1 Torprdl i &k A % AQ
JEETEE T YN FHEedl &

[A] 99
\[B] @& 72
[C] FmgeR T
[D] HTEe <fén

82. el WET g2 (CPU) &1 B -1 37T,
TUHT ST B qT qROTT 24T R 2 |

[A] Alternate Local Unit

[B] American Logic Unit

[C] Alternating Logic Unit
¢[D] Arithmetic Logic Unit

[P.T.O.




83. ICAR Day is celebrated on

84.

85.

86.

87.

3-B

[A] 23rd December
[B] 16th July
(C] 22nd April
(D] 23rd November

Global Gene Bank of rice is situated
at

[A] Philippines

[B] Pusa, New Delhi
[C] Cuttack

[D] Hyderabad

Sugarcane is a

[A] short day plant
[B] long day plant
[C] day neutral plant

[D] photo insensitive plant

How many chromosomes are found
in the endosperm of maize?

[A] 20
[B] 30
[C] 40
[D] 23

Which of the following genomic
conditions is found in commercial
edible wheat?

[A] AB genome
[B] ABC genome
[C] ABCD genome
[D] ABD genome

24

83. 3“%0@0&) Ao fa‘—:ﬂ:[ <hd] HATIT ST -%

(A] 23 feamr

\[B] 16 TS

(C] 22 3T

(D] 23 =K

84, =TEe I AT i ¥ R 8

(A] frefidfa

(B] T, 7§ fewett
[C] FeHH

.[D] #eTETE |

85. T @

d » v ¢ a1

(A] S0 Sftrpre i W

(B] e diftreref den
*[C] Serd Siftrepreia dren

(D] €iftrhrer 3 wfar 3= e

86. Tah % YUY F feha TURE T 1 &

i) 5[]

’wE}

[A] 20
[B] 30
[C] 40

[D] 23

87. eI @M 4 18 #, fre &

HH-H Sifres fRufy ors w87
(A] AB SfiHm

[B] ABC M

[C] ABCD SfHm

[D] ABD Sfim
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8 Alkaline soils can be improveq
[A] by the use of lime
[B] by the use of gypsum
C] by the use of saline water

¢ [D] None of the above
- -
A

s q'g Which of the following signifies the
[ Lota Pahar?

[A] Centre of the Revolt of Tilka
Manjhi

[B] Centre of the Stone A'ge. of
primitive people

El : ‘ 3
Bg%q A major centre of the 1857
' Sepoy Struggle

[D] A major centre of the Kol

88. &ty iR &1 GU S HHAT &

[A] =4 & WI0 g

[B] foream & w=ImT gra

[C] @R T % T
[D] 39t | | 1 T8I

89. fy=ifea & & ier TgTs i & Tea

ERIE

(A] T wigh & forsie = 5

(B] SR A AT 1 s

(C] 1857 % foardt HuTH 1 TH TSI hws
[D] it forgig =1 521 %75

Uprising
- 90. RMIEMT # BITHIR TS % foha greft
0. Which elephant of the Chhota %1 Joera AT T 27
Nagpur Raj has been mentioned in
“Bhangimama? (A] T ==
A] Moti Chandra
E [B] @ w3
[B] Sharat Chandra
(C] P9l Ty
[C] Nagpuri Pitho
D] ¥Im
D] Shyam Chandra D] R
9, ) ‘ .
Rohini, one of the major centres of 91. 1857@%{1%@%%
W 5.7 uprisings, is located today 1n ﬁ{%—uﬁ, 3 %H Rt 3 R 3,
hich district? .
A
] Godda [A] g
B Jamtara [B] Sirarer
C
) Deoghar [C] ¥eR
D
Y | Dumygq D]

[P.T.O.
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92. Who is the most important God of

the Santhal Tribe?
[A] Marang Buru
(B] Marang Manjhi
[C] Moreko Turiko
(D] Thakur Deo '

93. In which town was the Rajkumari

Leper Asylum, 1895 established?
[A] Deoghar

[B] Ranchi

[C] Daltonganj

[D] Hazaribagh

94, By which term does the Hill Kharia

community refer to a body bigger
than the Panchayat?

[A] Parha
[B] Chira
[C] Para
[D] Bara Jutan

95. Who among the following was

96. ‘Thendiri’ and ‘Bidadigy

3-B

considered as the head of the
village?

[A] Khuntkatti Raiyat
[B] Jeth Raiyat

[C] Asami

[D], Bhogta .

related to ntuals are

[A] Santhal matrimony
[B] Oraon birth cefemény |
[C] Munda last rites

[D] Oraon last rites'. ..

26

4 p v ¢ «C101

03. TEHHT] F3 3T5H, 1895 fora &L ¥
i feRan T ATY

[A] G

(B] T
%%&% . [C] STEEHIS

[D] ESARISTT
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[A] Jsri
[B]'Durnri

[C] Madhuban

D] Kakolat

. Which of the following pairs is not

correctly matched?
Date

Day
[A] World
Environment
Day
B] World Earth
Day
[C] World

Homeopathy
Day

__ 5th June€

__22nd April

__12th March

[D] International

Day of Yoga __ 21st June
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aufélh‘)f the following States has
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in 20237

[[:] Uttar Pradesh
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[B] 1885
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